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‘COMPUTER SCIENCE

( Honours Generic/Regular)

.;;pswer the Questions from any one Option.

'OPTION-A

| Paper : cSC-HG-1016/CSC-RC-1016

'»  ( Problem Solving using Compzitef)

Full Marks : 60
Time : Thrée hours

The figures_ in the margin indicate
~ full marks for the questions.

-} Answer either in English or in Assamese.

@W%@@%W@Wﬁwﬁﬂaw
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Group-A
=

dlrected
(@ You can use-python for
O Az g IR SE T @I
(i)  application ,programming ; ‘
' affem gy
(i) web - programming
NSSRCRIIER | o
(iii) scientific programming’
| wERe ik i
“(iv) All of the above
92 SBIRIE AE

(Choose the correct answer)'

(@’37 @—«ﬁ‘f s Eﬁwr) '

‘(b) All digital computers’ use the -

number system.
(Fill in the blank)

ot R S8 e I
TR AN (T AT T )

3 (Sem-1/CBCS) CSC/TCA/TIT-HGJRC/G 2

Answer the following (any seven) as ‘
CAx7=7

(c)

(d)

(e) .

‘ d

bject contam _— an
?nrelzth%djse (Fill in the blank)
Lﬂ‘l% object 4 wi% method (@FF
e T € 312 774 #1)

What do you mean by the brain of
computer ?

WQWWWW9

Name two types of errors that are
commonly -occurred in programming.

falifie a5 FRABS (A R &R Zo A

-

@

)

operator

- (1)

3 (Sem-1/CBCS) CSC)TCA/TIT;HG/RC/G '3

What do you ‘mean by strlngs in

© Python?

HIEY O] strlngs {%ﬁ 53 3@1‘«1 ?

What do you mean by Atoms in

Python ?
5124 Atoms I B W 4

Write the purpose of using bitwise

Bitwise SR T, P! BT

What is decision table ?

Decision table W & 3@t ¢
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() What is Boolean operator ?
Boolean operator I & & 2
(k) What is exit function ?
Exit function = & 3=t 2

()  What is Python shell ?
Python shell M= & &t 2

2. Answer any four of the following ‘que_sti.o'rlxs !

2x4=8

o PR e 5151 Tew. o ¢
‘(@) Name any four characteristics of a

computer.

SPlSB A o5 R 1w B

(b) What do you mean by documentation ?

Documentation i & 3@t 2

(c) - What do you mean by debugging ?
Debugging it & 3@t 2

(d) What is structured programming ?

Structuréd programming & ¢

3 (Sem-1/CBCS) CSC/TCA/MT-HG/RC/G 4

(e)

@)

(0

Write any two differences between

.algorithm and flowchart.

aaﬂﬁwmﬁﬂﬁmmﬁm
IR

Write the definition of identifiers and

keywords.

~ Identifiers =% keywords kel ferit|

What do you mean by indentation that
is used in Python programming. Name'
two characters (symbols) used in

indentation.

#{j2e 2ilifiiee IR (2l indentation TG
3@l ¢ Indentation © YT (A E(/?WT?N

“(bg)a = i

Name three types of control statements-
(or, control structures) that are known
as the building blocks of any

. programming language.

. ik SRR ooy o1 TS Fﬁl‘?fcontrol

Sfe (ZT control 5‘!‘5‘»{) B ?ﬁﬂ et

3 (Sem-1/CBCS) CSC/TCA/TI’[‘-HG/RC/ G S LT Contd.



Answer any three of the followm
questions :

8
Sx3=15

(@) What do you mean by generations of -
computer ? Name three factors baseq
upon which these generations are
classified. Write one name of the most.‘

prominent hardware technology used
in each of these 5 generations.

TR erer e e g ¢ ? PR Sy
P AN 721 A @sie fofs R % ooy

mm@ﬁwwmmmvfmm—

IS @ GBSty Rles 43T "f-’

CIERC T

(b) Draw a diagram depicting the memory
hierarchy associated with a _computer
system: Also draw three arrows for
showing their three key factors namely
cost, access speed and storage capacity.
FfATo wg© WA A YO g T
- @3 O 1 | TS B TSRy > T
AA—2TE, 2R e o Y 2 )
wfi<eet Fﬁ@'fﬂ_"/ 3T o8 Tk BRA |

3 (Sem- I/CBCS) CSC/TCA/TIT-HG/RC/G 6

AT s

Draw the basic symbols used mﬂthe
flowchart and describe them briefly

oive TR (A 2 Jtﬂﬁﬁwﬂwaﬁ
2o oy I

?
‘What do you mean by I/ 0] dev1cese
' Classify the output dev1ces with on

" . example of each.

1/0 @ A ﬁﬁi_"ﬂ? el T qET

| eifRrorem <R 2o Gribee T fd |

_ Briefly describe the elements of Python

program with example of each.

orfiamamr w%wW?ﬁW'

" What is tuple in Python ? Explain g1v1ng )

example.

) meleﬁi?wqﬁWW|

What is hst in Python ? Explain- glvmg
example.

W—llst%?wqﬁWWI

.Draw the ﬂowchart to determine the

- “largest of three numbers.

ﬁﬁmﬁ\wwwmﬁsﬁﬁamﬁﬁsﬁ
G 1 |

3 (Sem-1/CBCS) CSC/ICA/TT-HG/RC/G 7 : Contd.



| 4. Answer any three of the followmg

~ questions : _ 10x3 =30

W&”ﬁﬂwﬁmﬁﬁﬁmwm

(@) Explain top-down and bottom-up |

approaches to design an algorithm,

aawﬁw sRssre IO top- down W B

bottom- -up % ‘*ﬁ? 31 9

(b) Briefly explain the function definition

and function calling in Python

WWW‘W?{@WW WT@‘W

e vyt a1

(c) Name two options that Python provides’

for developmg GUIs. Brleﬂy descrlbe
any six Tkinter Wldget class.

GUIR R 0T AR e 1 775 s

N =11 Tkinter3 Rz 527@‘ Wldget
PR O 9090 =11

(d) Appraise the relat10na1 (or, cornpanson)
operators in Python with example.

'.WWWWWW@TW
TITF) AR TR 54 |

(e) Develop an algorithm and draw a. .

flowchart to find the simple interest.

m&mmﬁwwmaﬁaaﬁﬁwm.
IR 9IF FHIT =T hal

3 (Sem- 1/csc5) CSC/TCA/T- HG/RC/G 8

i}

(@)

m

R

program to convert ~
Fahrenheit
depending

Write a menu-driven
the given temperature from
to Celcius and vice versa
upon Uuser’s choice.

e aar <fb By 770 T T

@mmeﬁ'-ﬁeﬁﬁ"“ﬁ'

Write a Python program to find ‘the
factorial of a given number.

o fml @S RUR e SR
«f5 SHfZR elal R |

Write a Python program to calculate

. the total marks, percentage and grade

of a student. Marks obtained in each -
of the three subjects are to be input by
the user. Assign grade according to the
following criteria :

@S slizeA e B T IR foHo

o R[S @ T T 30 SRT O

AT 19! FRA P Y THS, =0 T
(!, percentage) W% (AW (grade) xR
i eI RS 3 .

Grade A : Percentage>=80 4
Grade B : Percentage>=70 and <80
Grade C : Percentage>=60 and <70

" Grade D : Percentage>=40 and <60

- Grade E : Percentage<40 :

3 (Sem-1/CBCS) CSC/TCA/TN-HG/RC/G O Contd.



COMPUTER SCIENCE
(Honours Generic)

OPTION-B .

Paper : CSC HG-1026

( Multimedia and Appllcatwns )

Full Marks : 60

Time : Three hours :

The figures in the margin mdlcate

Jull marks Jor the questions.

Answer either in English or in Assamese.

(@‘?%WG??WWWWW/)

1. Choose the correct optlon to answer the

following questions : (any seven)

ﬂ%ﬁwm/wﬁ "Bctw (Rizpreat wm‘r)g i

(@) What is the term for prcsentatlon that
is sequential and typlcally do not have |

interactivity ?

%wﬂaww#@mwﬁmmm

1x7=7

WWWWWWHTW9 i

.(i) Linear
&R
(ii) Non-linear

| ,

3 {8em-1/CBCS) CSC/TCA/TT-HG/RC/G 10

2

|

(b)

e

-3 (Sem-1/CBCS) CSC/TCA/TT-HG/R/G 11

(iii) - Hyperlinked
PRARETE

(iv) Static

&=

V1rtua1 reality handset was 1nvented by
SR BT (BT SR =l
@) Bob Garrey '
| e v
(i) Brain Sanog -

iz et

" (iii) John Forrest

(iv) Ivan Sutherland

WW

: Wh1ch of the following is not a functlon

of monkeys audio ? .
?i)~ To reduce’ bandwidth - - -
| AYTEEY g SR
() To reduce file transfer time

2 Contd.'



(ll) Remap color

. (@) To reduce storage requirements - | A
WEFR drEemel ${|@es - - - e BTRIRL '
(iv) To support sound streams B {: (iij) Lossy, compression
I 2RI L IR ;1’ , S TP
(@) LC]? stands for i) Dither
LCD 3 9¢ t2r® S
() Liquid Clear Display Wl : ,
forpee. B ' g o s f uncompressed
©. fFar fowry S TR e s ) 1sanexamme o
s ’ e : ' i : dio fermat.
(ii) Light Clear Display R "
‘@3@ fomz : | mw\mﬁ—wﬁm F6 @Bl
T |
(@) Light Crystal Display o Rl
A% et o : | R (i) MP3
‘(iv) Liquid Crystal Display ' _ v foe
PrRe e foma o (i) AIFF
(e) blends the colours. in the new ‘ . . auRgE i
palette to approximate the original | (i) TTA
colours in the graphic. 5 ‘ .
AFFS TG (AEES YA TN o | i 1%1%&1
T 4R ﬁmq’ ialk (iv). Musepack
(i) Scale text box R (R
Ao 7S A S _ |
3 (Seri-1/CBCS) CSC/TCA/TI-HG/RC/G 13 . Contd.
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(g9). Expertise in

(h)

_‘comes best Wlth

experience and

experimentation using the ?ﬁ;ognag
error method in refining technique,
IR (T BiZeT e @3 %S TR ol
____aﬁvwwﬂwﬁmmaWWumlw~w%w
R B e sy
()  timing
RapEs)
(i) . solid drawing
o ok
(i) exaggeration
e
‘(iv) squash and stretch
CRES W By
‘Which of the following images is lossy ?
weTS Rl G 2R g HOYT 2
() GIF
- fernizgw
(i) MPEG
qo3fe

3 (Sem-1/CBCS) CSC/TCA/T-HE/RC/G 14

AT e

)
J
b
N

]
i
7"

[

()

‘ .mp3 m‘ﬂﬁ |
() video file

3 (Sem-1/CBCS) CSC/TCA/TT-HG/RC/G 15

(iij) JPEG

i

(iv) PNG
Gl

mp3, is an extension of a/an ——

file. ‘
FizeR AR

fofoer i

(i) ~graphics image

aifes 2

(iii) audio file

(iv) text file

(o1 TizeT

Which of the following is not considered

. as digital ? .

e (RO TOReer 3t oley TN 7EF 2

(i) scanned pictures
TR

Contd.-



(@) audio cassettee tapes
. Web pages are coded using

S (P05 (5o (Z)A @amzmaﬁa’gwﬁn

(iti) web interface buttons i
. | ' B (i) ~Unicode

Y o | 1 B
(iv) bomputer animations : ; ; TML
FfToig : gy
AT | _ Peaitety
(k) What i : ' | ‘
A ) hat is the other name for interactive : (i) ASCII
multimedia ? A : . | . IR .
TS Wi :
SR i @5t BRI RcE ‘ '  (iv) Encapsulated PostScript
() - Hypermedia - oL i GRS CAEED
R AL 2. -Answer the following questions :'(any four)
(i) Hypertext ’ » 2x4=8
| i . . _ were fRal 2RSS ﬁms(ﬁzﬂmwﬁ?f)
(i) Graphic media ' : (a). Write any two uses of multimedi_a.
: 3 < 1
S | . nFSEfaR R 76 I3 &l

) Print media (b) Whét a;‘e the stages of a multmledia
project -
oIl S ' N ‘ -
_ '1 o5t NFCRRA e [Jfen w3 & & =i
1
‘ ,

3 (Sem-1/CBCS) CSC/TCA/TT-HG/RC/G 16 |
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(c) D1fferent1ate between Hypertext
Hypermedia. A

- .
ﬁﬁtﬁ@%mﬂ?ﬁmmﬁ ﬁf%ﬂ%mu
d) What is Font Monger'»’
% PROICREY 7?2
(.?) What is Cool 3D'Téxt?'
Cool 3D (535 fs ¢

N w v '
r1te the name of two lossless

compressed audlo file forrnats '

WWH\WW@W |
S wa’ﬁam

(g9 What is palette-indexed bitmap ?
- Iee [Rocst & o

(h) What is meta graph.ics ?
GOt aifesy & 2

3 (Sem~1/CBCS) CSC/TCA/TIT-HG/RC/G 18

AR o
— -

R i e e

e

Answer
questions :

() What is a colour
* Write the names O

()

.any three - of the followmg
5x3=15 .

fofasrg Ted a8
palette generator?

f any three colour

palette generator.

&7 (oS (D T 2 eIl 19 fofo1 9€1
(AT c@m@%«m%ﬂn o Tt
What is a font? What are the factors
that affect the 1eg1b111ty of text in

2 multlmedla ?

(c)

(d)

5 Font)x%‘a‘zr ?mﬁﬁﬁm—%@aw
eoifie N PR TR
Differentiate between MIDI and digital

audio.

e (MIDI) m{%@ﬁaw@’w’a Ners AL
feril

Write short notes on: (any one)

w3 (o foral 3 (Rl aby)

. () Joint Photographic Experts Group

(JPEG)
aﬁgx Tt Redes i (JPEG)

3 (Sem-1/CBCS) CSC/TCA/T-HG/RC/G 19 Weanta



() Portable Network Graph1cs three of the following

il
(PN G)

4. Answer .any 10%x3=30
AT (e @Tﬁ@@ (PNG) ..questlons Py
{e} What is catalog fi] weto faal eiTIRI 7583572537 e ; i;i 2
Catalog file ? Write abOut i _
ts ; arious
advantages 7 (a) Write in short about Vv e
@‘(.:3 ,t‘-l : respons1b111tles of the following '
1 e ﬁs W ﬂﬁiﬂ? ﬁﬂw %QITI 3 . members in a multimedia application :
. 51 TEERReA @i were frEl T
0 Differentiate between serif and sans- e [{fen wiigs. e D6 ol
serif fonts and g1Ve examples: of each, & A L s
Serif 9% { = (i) Project manager
E sans-serif T57zq rere : a2 :
o=t 9“%7 1. . o7w ARl
I AT Bzl fogy R

(ii) Interface designer . -

(9) What are samphng rates and bit rates Sy % ooz
Give example of each. ' i : .
X ‘(iii) Producer for the Web
CW@%W%@%{;%?WE (i) 2 :
: k 7 (| AT

" (iv) Permission specialist
e Reee

" (b)  What are -digital display standards?
Discuss about any two of them.

%@?ﬁamﬁwﬁs ?im@ﬁmmrzm
WWWI

(h) What are Windows 1mage files ? Write v
: three hm1tat10ns of Windows _images
files.

W@WW% “@@@WW'
Fﬁﬁrﬁ?ﬂﬁm%ml

3 (Sem-1/CBCS) s i '
(Sem~1/CBCS) CSC/0A/TI-HG Rey/ G _20‘ 3 (Sem-1/CBCS) CSC/TCA/M-HG/RC/G 21 SRR Contd.




(¢) Write in brief about various open file =~ | \ . (h) Write short notes'on the following toplcs

formats for storing digital data. : 1 ‘ , B hcjcontegtitolamanion’ e
> : s ' JE oot firl R GReRA sfcefFee
FfertbeT it sicrmrer <t fifem e izt woita il L sy G fears o :
Ra@ vt vt g , e
’ v J HE) Anticipation
(d) Write the principles of animation. : , i : iR :
i Az R Bt : . (i) Follow through and overlapping
. : : e i i . action
3 (e) What is video editing? Write about ' ' W@[W@W\

different types of video ed1t1ng

ohd drawmg

o S

techniques. ' - G B (it))

Rofor afof & 2 ﬁhw—ﬁ*wmmg o
Wﬁm%ml‘ ;

il 'Ekplain briefly different t'ypes:“of

information structures.
ffen o oA 5o vCE I |

(g) Describe the ‘procéés of choosing'ari-.".
4 authoring software. : £
41 R FOE A T e R
Al = | ,




COMPUTER SCIENCE/
- COMPUTER APPLICATION

(Honours Generic /Regular)
OPTION-C
CSC-HG-1036/TCA-RC-1016
(Fundamentals of Computer Applicatiori)
Full Marké 160

Time : Three hours

Paper :

The figures in the margin indicate
Jull marks for the questions. -

Answer either in English or in Assamese. °

(e Zarer! @3 SPTRS FRA )

1. Answer any seven questions from the
following : ‘ o 1x7=7

OoTq eIl eby exE Tes o ¢

(a) What is operating system ?
Operating system Wit & @t ?

(b) What is algorithm ?
Algorithm W & &t 2

(¢) Write the full form of ALU:
-ALU 3 375} Foitht o |

(d) Define bootstrapping.
‘Bootstrapping I iK%tz |

3 (Sem-1/CBCS) CSC/TCA/TT-HG/RC/G 24

|

" (¢) What is ISP?
ISP e+ & 3@ 2
: (f)'b What is wireless communication ? .
Wireless communication ¢ 53 e 2
(g) What is wiMAX ?
wiMAX it & 3@ 2 |
(h) Which of the following is the smallest
' unit of data in computer ?
% G5l 2
(i} . Bit %13
(i) Nibble °
(iii) Byte
(iv) none of the above -
- eoT e T
(i) What is www ?
www S @ 2
() Write the full form of ASCII.
ASCII 3 STsjef eACH! oty
= (k) What is antivirus ?
Antivirus W & @t ¢

3 (Sem-1/CBCS) CSC/TCA/TT-HG/RC/G 25 ‘Contd.



)

2.  Answer any four questions from the
followmg

What is VOIP ?
VOIP Witw & @t 2

4 [ Bifeh) ek s fua ¢

@
)
g
@
e

N

(9)

()

3[Sem 1/CBCS) CSC/TCA/TIT- HG/RC/G 26 .

ftp’ AT B I ¢
'Deﬁne gray code and unicode. :
- Gray code % unicode ¥ k@l faal|

What is digital signature ?
Digital signature W & §F=7T ?
What is floor memory ?- ;
Floor memory W 53 {\‘ﬂ ?
What is hackmg? :
Hacking it & @l 2

What is ftp ?

What is Internet?

Internet Wﬁﬁﬁ? -

Whett is browser ? ;

Browser W & @t 2

Explain the followmg commands :
O WGl I G —

i) Is : (ll) chrnod

2x4=8

Answer any three questions from the

following : 5x3=15
oo Rzl fofib emia Ted e ¢
(a) Briefly explain about d1fferent elements
of flowchart.
Flowchart ¥ {fea @R ?I@ 31
".(b) - Convert the de01mal number 10245
into binary. = -~
(ol R Soss- @ﬁﬁﬁﬁ@?ﬁ?{ﬁﬁ_ﬂ'?ﬁfl
v () What is bluetooth ?
. Bluetooth W % gail 2
. (d) What is URL?
: URL it & gat 2
"(e) Briefly explain the functions at
operating system
Operating system I functlons &I5] 3‘1/7”
F]_ML v
" (f) Briefly explain about different
 components of computer networks.
Computer networks B ﬁﬁl SRHEIS 3‘@1
Lt
(g9 What.is Firewall ?

3 (Sem-1/CBCS) CSC/TCA/T-HG/RC/G 27

. Firewall M1 & @1 2

Contd.



(h) What is client-server model ? .
Client-server (&¢] A & @l 2

'4. Answer any three questions from the
- following : - 10x3=3¢

o] [ fofb! e Beq fat g

(@) Briefly explain about different gulded
media.

fifeq guided media 7 Raca 3 =1 |

(b) Briefly explain about different I/O i

units.

fafeq 1/0 units @R ﬁmacﬁt T

(c) Briefly explaln the file structure of any o

one operating system.

RicwIe Gy eioiafes foeesm file structure(f@f

¢ |

(d) Briefly explain the elements of email.
email ¥ Rf elements @{ 3 =t

:.(e) Briefly explain about main memory.
Main memory I R 3‘1‘-?1 il

(f)  Give an algorithm and flowchart to find .

the maximum of n input nhumbers.,

n Bl input YR o) W51 lex AT
ISR algor_ithm 9% flowchart

i

3 (Sem=1/CBCS) CSC/TCA/TT-HG/Re/G 28

@)

N

3 (Sem-1/CBCS) CSC/TCA/TT-HG/RC/G. 29

ter
Draw the block diagram of a compu
and explain the components. =
Computer I block diagram (51 S

®i component e gt P

d
Give an algor1thm and flowchart to tﬁnn
the sum of a F1bonacc1 ser1es up (o}

numbers .
W51 AL @bl Flbonacm series
@loe SR algorithm % flowchart

Contd.



COMPUTER SCIENCE/ . | N )
INFORMATION TECHNOLOGY :

(Honours Generic/Regular)
OPTION-D .

Paper : CSC—HG—1046/TIT5RC¥1016
(Fundamentals of Information Techn‘ology )
Full Marks : 60

Time : Three hours : 4 ;
The figures in the margin indicate ' (©
Jull marks for the questions, _
Answer either in English or in Assamese. -
(C%T Z5a1eit @3qy epriiare ) - ,
‘Choose the correcﬁ options from those gdin. L
below each question - (any seven) 1><7=7. e |
(@) From the following choose
1is not an input device :
() key-board
(ifi) mouse -

&

e o e 3 A G

.the one that 0

ﬁi) ‘scanner
(i) " monitor. o ‘..-::'.

W aﬁ %%em 8 ; : : : v S

e () F_R

(i) wfes ) W

3 (Sem-1/CBCS) CSC/TCA/TIT—HG/RC/G 30.

(@)

. , e f
Which of the following is not a part o

- CPU? G
- () Register (i) ALU

‘ ' m unit
(iij) Control unit (;v) Program un

- T\oﬁﬂwmaﬁcméwwm ?
ICEICRLE

i (i) ALU
() @fERR B '
(i) TEEe T '(iv) mﬁﬂ%ﬁ?

Which of the following is the fgll form

of ALU? _ T
oo T R ALU S T ST 2

(i), A‘pplied Logic Unit

" (i) Arithmetic and Logic Unit

(i) Arithmetic and Literal Unit

" (iv) Algorithmic Logic Unit

The binary eqliivalent of the decimal

" number 45is which of the following?

R YT 45 7S zm_ﬁa T SoTO
fraPTE PGt 2

()" 111101 . - (). 101101
@@ 101001 . (iv) 101011_7 <

1CBCS) . i Contd. .
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(e) From the following choose Lhe memory

(9

(stmaoe) that is fastest :

() ~ Register (i) Pen Drive
(i) Main Memory (iv) Hard D1sk

‘ Wﬁmwﬁwmﬁ—wﬁ‘h

_ @ 3 e g
O @R @ om gizs
(iii} I S (iv) <0 werm

How many symbols are used by the
hexa- dec1mal number system ?

Hexa-decimal 197 *i&fory @31’ 31 313
TR I 2 '

(i)' 12 : i) 87
(ii) 16 @ 10

The ASCII code of .A” using 8 bits =

which of the following?

851 G 3779 IR s ‘A’?@’@Tﬁzﬂ@% .

@nﬂt‘ﬁ‘r = 2
() 01000101. (ii)
(i) 11000001

11000101
(iv) 01000001

3 (Sem-1/CBCS) CSC/TCA/TIT-HG/RC/G 32

)

Y

L) cRERe . (u)

3 (Sem-1/CBCS) CSC/TCA/TM-HG/RC/G 33

(h) Which of the following is not a

secondary storage device ?
(i) Pen Drive (i) Hard Disk
(iii) MODEM (iv) Compact Disk

wwmm el S o=
DR :
o T

(iii) MODEM (iv) wift o

Identify among the followmg, which is
mainly used to host web. sites.

Web' site 6t host TR @ o/ IO

: ﬁwmiﬂ? :

(i) Mail server
(iij ~Web server .

(i) Database server

 (iv) Program' server

Identlfy the protocol primarily used for
browsing data in Internet.

Internet © IRHA W ?“U_ CRITCB! <R
e
() FTP
(i) TFTP

(ii) TCP
(ivy) HTTP

: Contd.



. (k) The location of a resour

C€ on the
Internet is given by

Internet © Soerg TTAVOTRE B (I Ty » "

()  Email (@) 1P
(iii) Protocol (iv) URL

() Wthh of the followmg is .not an

operating system ?

TS Sl T cawm RIS %@w
a2 o

(ij Windows (). . Linux

‘{iii) Oracle (w) DOS

Answer any
following :

T Rt BT e e v

four questions from the
2x4=8

(a) Write four functlons ‘that are performed © .

by an’ operating’ system.

B L (17 mwwmﬁ?fwﬁm'

T
(b) Name two system softwares and two "

application softwares.

Tl system software % Zﬁff _épp,lication
software I I f&=t|
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()

Dféw a ﬂow—chart to find the maximum

of two given numbers.

. 51 R A TR SR <o flow-
chart S | Ta

()

(e)

- octal. :
. oifae R 120

What is vbootstrap_ping’?

Bootstrapping & & ?’Rﬂl

Convert the‘ decimal *m;rnber 120 to
\ -
Sl St FleT |

Write the binary code and Gray code of

m K . .
the decimal number 14 using 4 bits.
3 AT 14 3 078 T W (4T 451 B

- R IR
(g ‘Write about web-page and web-site.
. Web-page W% web-sited R il

(h) What is a Firewall ?

Fi;ewall e
3 (Sem-1/CBCS) CSC/TCA/TN-HG/RC/G 35 - . Contd.



- Answer any three questions from the
following : e i 5x3=15

oS fraPTS ﬁmﬁﬁraﬁa%@fﬁm

(@) Explain what uploading and
downloading of files are meant by

PieR. uploading Wi downloadlng Plereer

& 3ot foran

(b) Write about dlfferent types of operating
system.

wvn@% Wﬂ%ﬂﬂ@%%ﬂaﬁﬂmm,‘

(c) What is browser? Name four web
‘ browsers '

Browser IS b‘/]%(?f web browser 9919 %RN |

(d) Write a short note on www,

Www?@%k;lﬁlﬁi{cﬁm%ﬁn

() Write a short note on w1reless

commumcatlon

ROR Q@I 8IS B! B (BIl. ferat ]

(f) Name three types of transmission media

"in computer networks. Explain the
working method of any ‘one of them.

Computer networks IRZ® foF @1 w2
TRIQE 4 Mg = &4t 1 Zq@ ﬁ@/&ﬁﬁﬁ« ‘
TR FELNATR K ﬁQm

" (g) Write an algorithm to read n numbers

and print their sum and average.

n B A AT FRAIFDR Q@oITe DA< AT
Wi 3R<te @bt algorithm T

. (h) Expléin what a digital signature is.

Write the procedure involved in puttmg
a digital signature.

" fefese v [ ¢ ol 5] eI A
2 Aren (R AT [

Answer . any three of the following .

questions : 10x3=30

Tﬁmmﬁmﬁwﬁffmv%@m

(a) -~ Explain the functions performed by the
major components of a computer
.system Also describe how the
components communlcate with each

other.

Contd.
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Describe vd‘iffererit security issues that .

Wﬂm Bl e @WW@W arise in a computer system having_
TG | PR AT TS (SR Internet connection. .
o : TR O e FRa  Internet 3 9 A (R AT 4 ,
(b)  Write briefly on the evolution of ' Raerel e Got [{fes e Abd
operating . system. : : e I '
AR e Fore Jera eome i SN ' I B
frai | £ e (g) Write about tl’fle gd;antggsv?re‘i‘;s
‘ 3 X disadvantages of wired an :
(¢)- Write an alogorithm to read n numbers ‘communication. - 5
and print the sum of the positive g e : P GIRERSS
numbers, sum of the negative numbers SIF-ALIN A (T (7” o (21[?13
and sum of the squares of the numbers et i esige Tl
separately. . i : -
n B ey Qrﬁa [GRC e R (h)- Writg .short notes on any two of the
- %) . ‘ Y * ‘following :. )
TR, QP FRYPTIRI @R Ol el 4 Rzl 7519 eviwe 5 (Orl o 8
- TR R QR 72 SR o B P 2 Uhosta e .
- TR <1 alogorithm Fr| = () Hacking and cracking
(@ D‘es_cﬁbe the components of a Cbmputér ; (ii) Search engine
ne.twork'. ] e (i) e-mail _
Computer network I STz [z )| - (iv) Optical fibre
- (e)  Describe how the use of IT will help in & .
' carrying ouft the day-to-day official and
academic activities in a college.
IV Ier FEICO IT I I3 IR [ _ea w72
TJ O 85T RS | L e
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